[ 13260

£ H B LB

2 K B 101 2

¥ @ A &

g — X B m GR) B OE







P WHR LA
£—kiEH (R) BEEX

FEREA 101 £&

¥EBRK

L. REMMANAEX 13260- 17
Z~ AR

L AU ERNAREZALFATA ALK 13260- 3R®

2. R H AR A B oM & 13260- 6 R







£ b W HO B TR

=5 A } =1 3
e 101 S B HEET A
B E B0 (IR ) %
F ¥ & ameEEy = 0 BH
m|lE|E|ag| 2 8 R & % HE B
13 00130000000 4,187,457 5,805 4,187,457
BB TREE 5,805
001 00132600000 4,187,457 5,805 4,187,457
EhHBS TR -5,805
01 66132600300 3,928,378 3,928,378
BTEE
01 66132600301 3,928,378 3,928,378
BT
02 68132600100 90,638 2,880 90,638
—HATEL -2,880
01 68132600101 90,638 2,880 90,638
TErEE 22,880 — AR TR
= ENTEEER 880TTT
g
AEE2,880FTC
SBIRTEESD 880T-5E -
g
AZ22.880F7C
= - ENEE R
Fg
%] N\ 22,8800
W N\ E2,880 7T
MY - (AR HA
=2
LEHEEmE T A SEEs
4842 8807 -
2B B AR A
NE2,880F 7T ©
03 68132600900 162,791 2,925 162,791
BETHEETS 2,925
01 68132600901 27,187 27,187
BLRIR
02 68132600902 15,560 15,560
BB
03 68132600903 16,119 16,119
g

13260-1




2P HHBSETE

Ay | -1

) X
s 0 G B HERF R
B () B A0 R % '
B 7 B #[ememEeEy B /3
2 8 R & B R " OHE W
68132600904 92,009 - 02,099
55 T1EF) .
68132600905 816 z 816
s
68132600906 11,010 2,925 11,010
B 22,925 — AR B AL
= EHITEEE0. 925
aE:
SEAIE2,925T I
BT 2,925T7T
ALHE:
55292570
=SB  T
P -
T LERE2,925F 7T
H%) HEAEENEE2,925TT)
T ~ (RFSETSER 0 AN
B
| SE TR Al S B R
BRI BURERS
2.9257FIC o
2 BN A R bR
RIS B AR
2.925F7C »
68132607900 400 i 400
E—TEES
68132607901 400 . 400
B—TERS
68132609000 5,250 - 5,250
— AR R
68132609001 5,250 - 5,250
— R R 2 :

13260-2



EYTEAE TS
A ERAREHE BT H AR

PEREA 101 £4 B HERR
oo | ETSEHER TFEFE 68132600101 - 5
o I = R R |\ i
* BHIOR) B i
_|sEhnos _| smasy _
N T 0TI gy i (et 90,638 7T -
i d i
¥ ’iﬁ —EEAA | BB 00429 5 20 H RFE A A 100017634 SHE L AR  006E Z 10 EEA L B 286 |
2| o A IEFIRESEEIRARGRL  ATEENREEAR 188 HTEMERUSZE - |(m
=
§ Z TEHARCR ¢ aNHASERK -
Gz
AREERAERRE B | & HE EBITHEER | BEEEE A
=0 2,880,000,  2,880,000|TER0TT » BSZEFIOTT
NPN=TE 2,880,000 2,880,000{HIEK0TT » WSk BIFIOTE
0100 A% 2,880,000 2,880,000[FFEK0TT » MeSTHIFIOTE
0103 ¥EEMRBIA BAHE 2,270,539
7 1 2210539 2,270,539 A=Y e =]
58 -
0111 84 2,880,000
F 1 380,000 380,000| R #m A A B RHTHE
ST - REE
BARE - BB TH
TEIES AR - DASZIERR
N6 BERATRAR
% o
o 1 2,500,000 2,500,000\ FAREIEAO N S B
ERSNO T - AR
BAllsRE o BRR T
R TIEIESHETER » LISZ
FERRRIISE e B 2R
0121 E-AthAgea 96,000
F 1 96,000 96,000 LB A =
AR SR -
0131 JUER{EEFE 188,960
F 1 188,960 188,960 EBE R EEY BT
MAEIITEE -
0142 sEIRBER e S 210,806

13260 -3



EFPTERS A

R Ry —EXE

i it Z AR B gL R BA %m &
+ERE 101 45 Fic M ER A

DT ERERAIRIE Bh | BE B BHINTEES | BEREEE FREA ;3;
& 1 210,806 210,806 i@ N6t BfE AT 47
ANERES - Jli
0151 {545 113,695 i
hid
FE 1 62,803 62,803 wEEIncREE I E| &
LR AHED - %

&E 1 50,892 50,892 HREEIoR B % B

MR HED -

13260 - 4



Wy Ay ok B S oM B W

EL TS,

RN S RAR TR LA G A Hm &
FHEREA 101 £ B MAEK
FEEIERTIRETE (68132600906 nn .
LIRGURSE  |SBOEERERR AL [BERZEN
—| BINGE) —| SEBMEEOER -
[ETEEE 11,010F7T . 0FiT TR 11,010F70
ﬁ;ﬁ —HENE . FFAIFEEIF SRS -
i — FEEARRE  AOHASEA -
2]
FA%BIRIE k=P g BE |BinEEE|EHEER BT
= 2,925,000 2,925,000 F5FK0TT B EFI0TT
0200 278 2,925,000[F77k-2,925,0007T
0251 i 2,925,000
F 1 2,925,000 2,925,000 B RS BB TE
Tt -
0400 #&#HENE 2,925,000 TEX2,925,0007T
0441 ZEEHRS 2,925,000
& 1 2,925,000 2,925,000 BN A2 B E i
HEEFESZNEM
B o

13260 -5

Mg M B — S oM B W



2P RS LA
R R A FHE otk

P HERBEI0IEE Ba o mENRTR
R " A X H
) i Bl e
wrwpam | aRt | A | R | o | 8| B 0 | AR | W | | B
= % = % 5 = | % & g |
E’%%%ﬁ"%%&%ﬁ”
§ F
& & 2,975 2,925
68132600000 -2.925 2,925
EFRRRSTHY
68132600100
— A TER
68132600101
1TBERE
68132600900 -2,925 2,925
BB
68132600906 -2,925 2,925
gERE

13260 -6




EFW e AB  FRUAME i

Haautiin ]

#% B Kk B O OBRE







